NEW TO RANGE

2023-07 (BY PRODUCT GROUP)

A001.Tie Rod End

A001.Rotbaslari (0010)
A001.HakOHEYHUKU DVNEBOM TATU

Rotule de direction
EXTREMO DE DIRECCION

£ 1202 TIE ROD END LH, FRONT
B 02068 rotbasi, 6n sol M16x1,5
32106887405 HaKOHEYHWK py/ieBOM TArK PAIR:1202069
Rétula barra de acoplamiento
Rotule de direction
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
= 1202 TIE ROD END RH, FRONT
1 02069 rotbasi, 6n sag M16x1,5
32106887406 HaKOHEYHWK py/ieBOM TArU PAIR:1202068
Roétula barra de acoplamiento
Rotule de direction
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
- 1202070 TIE ROD END LH
= rotbasi, 6n sol FRONT
\ 32106887400 HaKOHEYHWK py/ieBOM TArU PAIR:1202071
Rétula barra de acoplamiento
Rotule de direction
BMW 3 SERIES (G20) 11/18- BMW X5 (GO5 , F95) 08/18-
- 1202071 TIE ROD END RH
= rotbasi, 6n sag FRONT
32106887402 HaKOHEYHWK py/neBoM TATU PAIR:1202070
Rétula barra de acoplamiento
Rotule de direction
BMW 3 SERIES (G20) 11/18- BMW X5 (GO5 , F95) 08/18-
1302019 TIE ROD END LH, FRONT
rotbasi, 6n sol M14x1,5 RHT;L-193 mm
1623141080 HaKOHEYHUK py/NieBOM TATU Pair: 1302020
- ' Roétula barra de acoplamiento
o Rotule de direction
CITROEN (oc]]] 11/09 -08/16 CITROEN C3 111 (SX) 08/16-
CITROEN DS3 11/09 -
1302020 TIE ROD END RH, FRONT
rotbasi, 6n sag M14x1,5 RHT;L-193 mm
1623141180 HaKOHEUHWK py/ieBOM TATU Pair: 1302019
=, Rétula barra de acoplamiento
g Rotule de direction
CITROEN ci 11/09 -08/16 CITROEN C3 111 (SX) 08/16-
CITROEN DS3 11/09 -
y RH
e TIE ROD END
1501059 rotbasi, 5n sag, ic M18x1,5 LHT;L=152
2L3Z3A130DA HaKOHEYHUK py/NieBOM TATU PAIR:1501060
F6573A130DA Rétula barra de acoplamiento

Rotule de direction

FORD EXPEDITION 08/96 - 09/02 FORD F-150 (USA) 10th Generation 08/97-08/03
FORD F-250 ,F250 SUPER DUTY 01/99-07/08 LINCOLN NAVIGATOR & UN173, U228 05/97-12/06
o 1 1 TIE ROD END LH
— e 50 060 rotbast, n sol, ic M18x1,5 LHT;L=152
2L3Z3A131BA HaKOHEYHWK py/ieBOM TATU PAIR:1501059
F65Z3A130BB Rétula barra de acoplamiento
Rotule de direction
FORD EXPEDITION 08/96 - 09/02 FORD F-150 (USA) 10th Generation 08/97-08/03
FORD F-250 ,F250 SUPER DUTY 01/99-07/08 LINCOLN NAVIGATOR & UN173, U228 05/97-12/06

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

10f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1902080 TIE ROD END LH,FRONT
rotbas, 6n sol M14x1,5
‘ _.‘.-'T: | 2473308501 HaKOHEYHWK py/ieBOM TATU PAIR:1902081
Q‘;’i‘ Roétula barra de acoplamiento
Rotule de direction
MERCEDES BENZ B SERIES (W247) 02/19- MERCEDES BENZ EQA (W250) 02/21-
MERCEDES BENZ EQB (C118) 01/21-
1902081 TIE ROD END RH,FRONT
rotbasi, 6n sag M14x1,5
; ~ 2473308201 HaKOHEYHWUK pyNeBOM TATU PAIR:1902080
g ‘ Rétula barra de acoplamiento
Rotule de direction
MERCEDES BENZ B SERIES (W247) 02/19- MERCEDES BENZ EQA (W250) 02/21-
MERCEDES BENZ EQB (C118) 01/21-
1902088 TIE ROD END BOTH SIDES
i rotbasl, 6n sag-sol M16x1,5
1673307100 HaKOHEYHWK py/NieBOM TArU
S A1673307100 Roétula barra de acoplamiento
Rotule de direction
MERCEDES BENZ ~ GLE SERIES (167) 03/19- MERCEDES BENZ  GLS SERIES (167) 08/19-
=) 2102018 TIE ROD END LH
rotbasi, 6n sag
1669648580 HAKOHEYHUK pyNieBoit TArn PAIR:2102019
Rétula barra de acoplamiento
Rotule de direction
OPEL CORSAF 07/19- PEUGEOT 208 11 06/19-
= 2102019 TIE ROD END RH
T rotbasl, 6n sol
1669648480 HaKOHEYHUK py/NieBOM TATU PAIR:2102018
Roétula barra de acoplamiento
Rotule de direction
OPEL CORSAF 07/19- PEUGEOT 20811 06/19-
BOTHS SIDES
] 3902031 TIE ROD END
rotbagi, 6n sag-sol M12x1,25;L=72 mm
4422A063 HaKOHEYHWK py/NieBoOM TATU
4422A070 Rétula barra de acoplamiento
Rotule de direction
MITSUBISHI MIRAGE 08/12-09/17
RH
— 4002019 TIE ROD END
4 rotbasi, 6n sag M14x1,5
45046B9320 S1 HaKOHEYHUK pyNeBON TATU PAIR:4002020
Rétula barra de acoplamiento
Rotule de direction
DAIHATSU TERIOS 11 (J2) 11/05 -
LH
D 4002020 TIE ROD END
9 rotbasi, 6n sol M14x1,5
45047B9270 S1 HaKOHEYHWK py/ieBOM TArU PAIR:4002019
Rétula barra de acoplamiento
Rotule de direction
DAIHATSU TERIOS 11 (J2) 11/05 -
/& 4202164 TIE ROD END RH
rotbasi, 6n sag, dis M18x1,5

E =R

45046-09210

HaKOHEYHWK py/ieBOM TArU
Rétula barra de acoplamiento
Rotule de direction

PAIR:4202165

TOYOTA SEQUOIA 08/00-08/07 TOYOTA TUNDRA 08/00-08/07
4202165 TIE ROD END LH
rotbasi, 6n sol, dig M18x1,5

.

TOYOTA SEQUOIA

45047-09090

08/00-08/07

HaKOHEUHUK py/aeBoM TATN
Roétula barra de acoplamiento
Rotule de direction

TOYOTA TUNDRA

PAIR:4202164

08/00-08/07

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

20f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A002.Ball ioints

A002.Rotiller (0030)
A002.LLlapoBble onoobl

Rotule de suspension

s
L’\?W

ROTULA
L) 1304013 BALL JOINT BOTH SIDES,LOWER
= rotil, 6n FRONT
1613991580 waposas onopa
3520.T5 Casquillo cojinete, brazo oscilante
3521.06 Rotule de suspension
CITROEN C3 1 (FC,FN) 02/02 -10/09
-, 1304014 BALL JOINT FRONT LOWER
3 rotil, 6n alt
9819418180 S1 waposas onopa
9819418280 51 Rétula de suspension/carga
Rotule de suspension
CITROEN C3 111 (SX) 08/16- OPEL CROSSLAND X (P17) 03/17-
e 4204091 BALL JOINT FRONT LOWER
rotil, 6n alt
‘ 4333009051 waposas onopa
OQC Rétula de suspension/carga
22 :
Rotule de suspension
TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA SIENNA (USA) XL10 08/98-08/03
TOYOTA SOLARA (XV20) 08/99-08/03
=) 4204092 BALL JOINT RH
rotil, 6n sag, st FRONT
‘ ‘ ‘ ‘ 4335039105 waposas onopa PAIR:4204093
> w0 - T 9 4806635140 S1 Rétula de suspension/carga
E e
= Rotule de suspension
TOYOTA TACOMA (N1) 01/95 - 08/04

Ty

@ (
(Y

y & ¢

4204093

4806735070 S1

BALL JOINT

rotil, 6n sol, Ust

WapoBas onopa

Rétula de suspension/carga

Rotule de suspension

LH
FRONT

PAIR:4204092

TOYOTA TACOMA (N1) 01/95 - 08/04
o 5603043 BALL JOINT FRONT LOWER
4 rotil, 6n alt
20832022 waposasn onopa
' 20832023 Rétula de suspension/carga
S L .
o Rotule de suspension
CHEVROLET AVALANCHE 08/02-08/06 CHEVROLET SILVARADO 1500 08/99-07/06
CHEVROLET SILVERADO 2500 08/99-07/10 CHEVROLET SILVEREDO 3500 08/01-07/10
GMC SIERRA 1500 09/99 - 12/04 GMC SIERRA 2500 08/99-09/10
GMC SIERRA 3500 08/01-07/11 GMC YUKON 2nd Generation 08/00-08/06
= BALL JOINT BOTH SIDES
@ 6103025 rotil, 6n alt FRONT LOWER
68282728AC wapoBas onopa
68282729AC Rétula de suspension/carga
Rotule de suspension
DODGE DURANGO 4th Generation 01/17- JEEP GRAND CHEROKEE V 11/16 -
7403001 BALL JOINT BOTH SIDES
Uist rotil, 6n UPPER
4440121001 Lwaposan onopa, ycuneHHasn
4443021000 Rétula de suspension/carga
Rotule de suspension
SSANGYONG RODIUS 05/05-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

30f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A003.Track control arms
A003.Rotilli Kollar (0045+)

A003.Pbluaru nepeaHeii NoABECKU =@
Triangle de suspension -
BRAZO DE SUSPENSION
1509296 TRACK CONTROL ARM REAR
denge kolu, arka alt
Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD EXPEDITION 08/96 - 09/02 LINCOLN NAVIGATOR & UN173, U228 05/97-12/06
1509301 TRACK CONTROL ARM REAR
denge kolu, arka Ust
2216285 pblyar
JX615500AEA Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
3609160 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt For Vehicles w/ Drum Brakes
H 52370SDAA50 pbivar PAIR:3609161
52370SDAA60 Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA ACCORD VIl Tourer (CM) 04/03 -07/08
3609161 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt For Vehicles w/ Drum Brakes
H 52375SDAA50 pbivar PAIR:3609160
52375SDAA60 Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA ACCORD VIl Tourer (CM) 04/03 -07/08
3609162 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt
M 52340TK8A00 pbiuar PAIR:3609098
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA ODYSSEY (RL5) 4th Generati 08/11-
3709144 TRACK CONTROL ARM REAR
denge kolu, arka sag-sol, tist 4WD
H 552502W110 pbivar
552503W100 Barra oscilante, suspensién de ruedas
552503W110 Triangle de suspension
HYUNDAI IX 35 01/10-08/15 HYUNDAI SANTA FE III (DM) 09/12 -
KIA SORENTO I (XM) 11/09 -08/14 KIA SPORTAGE (SL) 07/10 -08/15
4209229 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol
T rer— e 4873002040 pbiuar
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA COROLLA E110 05/97 - 01/02
4209252 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, Ust
H 4871060140 pbivar PAIR:4209253
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA LAND CRUISER 200 (VDJ20, U 08/07 -
4209253 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, Ust
4871060150 pblyar PAIR:4209252
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA LAND CRUISER 200 (VDJ20, U 08/07 -
STOCK AND PRICE INFO ONLINE
2023-07 (BY PRODUCT GROUP) WWW._FORMPART.COM 40f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4209254

ﬁd 4871048030

TRACK CONTROL ARM
denge kolu, arka alt
pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR
FOR FWD; YEAR ONLY 2004-07

TOYOTA HIGHLANDER (U3) XU20 08/01-08/07
4209255 TRACK CONTROL ARM REAR
denge kolu, arka alt FOR AWD; YEAR ONLY 2008-13
H 4873048160 pbiuar
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA HIGHLANDER (XU40,XU50) 08/08-08/16 TOYOTA VENZA 08/09-08/14
4209256 TRACK CONTROL ARM REAR
denge kolu, arka alt FOR FWD; YEAR ONLY 2004-07
M 487100E010 pbiuar
4871048040

Barra oscilante, suspensién de ruedas
Triangle de suspension

LEXUS RX 350 (MHU3,GSU3,MCU3) 08/03-07/08 LEXUS RX 350 08/07-08/09
TOYOTA HIGHLANDER (U3) XU20 08/01-08/07
4209259 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, Ust USA TYPE
4876002020 pblyar PAIR:4209260
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA C-HR (_X1_) 10/16-
4209260 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, tst USA TYPE
4878002070 pbiyar PAIR:4209259
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA C-HR (_X1) 10/16-
4209269 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt
D S —)  18730AA020 pbiuar PAIR:4209270

Barra oscilante, suspensién de ruedas
Triangle de suspension

TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA CAMRY (CV2, XV2) XV20  08/96 - 10/01
TOYOTA SOLARA (XV20) 08/99-08/03
4209270 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt
D v —) 1874071020 pbiuar PAIR:4209269

Barra oscilante, suspensién de ruedas
Triangle de suspension

TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA CAMRY (CV2, XV2) XV20 08/96 - 10/01
TOYOTA SOLARA (XV20) 08/99-08/03
4209272 TRACK CONTROL ARM REAR
denge kolu, arka L=375 mm; for FWD
H 4871048070 51 pbivar
4878048070 Barra oscilante, suspensién de ruedas
4878048100

Triangle de suspension

TOYOTA HIGHLANDER (XU40,XU50) 08/08-08/16 TOYOTA VENZA 08/09-08/14
4209273 TRACK CONTROL ARM REAR
denge kolu, arka FOR FWD; YEAR ONLY 2008-2013
M 4871048060 pruar

Barra oscilante, suspensién de ruedas
Triangle de suspension

TOYOTA HIGHLANDER (XU40,XU50) 08/08-08/16 TOYOTA VENZA 08/09-08/14
4909073 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag YEAR ONLY 2006-2009
H 551012F001 pbiuar PAIR:4909074
Barra oscilante, suspensién de ruedas
Triangle de suspension
KIA SPECTRAS (LD) 08/04-08/09

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

50f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4909074

551002F001

TRACK CONTROL ARM
denge kolu, arka sol
pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR,LH
YEAR ONLY 2006-2009

PAIR:4909073

KIA SPECTRA5 (LD) 08/04-08/09
4909075 TRACK CONTROL ARM REAR,RH
. denge kolu, arka sag YEAR ONLY 2004-2006
3——ﬁ 551012F100 pbivar PAIR:4909076
Barra oscilante, suspensién de ruedas
Triangle de suspension
KIA SPECTRAS (LD) 08/04-08/09
4909076 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol YEAR ONLY 2004-2006
H 551002F100 pbiuar PAIR:4909075
Barra oscilante, suspensién de ruedas
Triangle de suspension
KIA SPECTRA5 (LD) 08/04-08/09
7105009 TRACK CONTROL ARM BOTH SIDES
rotilli kol, 6n sag-sol, alt FRONT LOWER
104434100D pbiyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
TESLA MODEL 3 (5YJ3) 01/17-
7105010 TRACK CONTROL ARM FRONT LOWER
rotilli kol, 6n alt
- _ Loy 102735100C S1 pblyar nogBeckun
Barra oscilante, suspensién de ruedas
Triangle de suspension
TESLA MODEL S 08/12- TESLA MODEL S (5YJS) 08/16-
TESLA MODEL X 08/12 - 08/18
7105011 TRACK CONTROL ARM RH
P & rotilli kol, 6n sag, alt FRONT LOWER
£ v ST -"—f_"_:*"‘:::-\‘i 1041575008 pblyar PAIR:7105012
0” - Barra oscilante, suspensién de ruedas
Triangle de suspension
TESLA MODEL S 08/12- TESLA MODEL X 08/12 - 08/18
7105012 TRACK CONTROL ARM LH
- rotilli kol, 6n sol, alt FRONT LOWER
e 3 1041570008 S1 pblyar PAIR:7105011
“o Barra oscilante, suspensién de ruedas
Triangle de suspension
TESLA MODEL S 08/12- TESLA MODEL X 08/12 -08/18

A004.Central rods. tie rods

A004.Borulu Rotlar. Orta Rotlar(0035+)

A004.CoeanHue pvaesbie TArK
Biellette de direction
EXTREMO DE DIRECCION

T st g

LAND ROVER FREELANDER |

1706011

QFK000070

10/97 - 09/06

TIE ROD
yan rot, 6n sag
cpeAHAnA pynesas Tara

RH

PAIR:1706012

e i

LAND ROVER FREELANDER |

1706012

QFK000080

10/97 - 09/06

TIE ROD
yan rot, 6n sol
cpefHAA pynesas Tara

LH

PAIR:1706011

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

60f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A005.Axial ioints

A005.Rotmilleri (0020)
A005.PvneBble TArv

Rotule de direction intérieure
ARTICULACION AXIAL / AXIAL

1507091

FOCZ3280A

(R e s ——

FORD MERCURY- TRACER 08/91-08/97

AXIAL JOINT
rotmili, 6n sag-sol
pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

MAZDA 323V (BA)

BOTH SIDES
M12x1,25;M14x1,5;L=336 mm

06/94 - 04/98

1507096

AXIAL JOINT
rotmili, 6n sag-sol

BOTH SIDES
M16x1,25;M16x1,5;L=402 mm

e - i 6 2360755 pynesas Tara Electrical Steering
KK263L519AA Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
FORD TRANSIT (TTS) 11/19-
1507097 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1,5;M16x1,5;L=370 mm
T — .’ 2411062 pynesas Tara HIDROLIK DIREKSIYON
KK213L519AB Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
FORD TRANSIT (TTS) 11/19-
1507110 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1,5;M16x1,5;L=289 mm
‘5_. 2475903 pynesas Tara
LX6C3A500AD Articulacion axial, barra de acoplamiento
LX623280A Rotule de direction intérieure
FORD KUGA Il 01/20- FORD ESCAPE 12/19-
1907040 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1,5;M16x1,5;1=298,5 mm
m’ 1673380000 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
MERCEDES BENZ GLE SERIES (167) 03/19- MERCEDES BENZ GLS SERIES (167) 08/19-
1907041 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M16x1,5;L=263 mm
_# 2313301200 pynesas Tara

A 2313301200

MERCEDES BENZ  SL(R 231) 01/12 -

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

2107060

AXIAL JOINT
rotmili, 6n sag-sol

BOTH SIDES
M14x1,5;M14x1,5;L=295 mm

‘,— 1648322280 pynesas tara
Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
DS DS 3 CROSSBACK (UR_, UC_, 10/18 - OPEL CORSAF 07/19-
OPEL MOKKA-e (76) 06/20- PEUGEOT 208 11 06/19-
2907129 TIE ROD AXIAL JOINT FRONT

will) —— 510023810

rotmili, 6n

pynesas Tara

Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

M16x1,5;M16x1,5;L=310 mm

AUDI A3 (8YA) 11/19- SEAT LEON (KL8) 03/20-
SKODA OCTAVIA IV (NX3) 01/20- VOLKSWAGEN GOLF VIl (CD1) 08/19 -
3007027 TIE ROD AXIAL JOINT FRONT

rotmili, 6n sag-sol M14x1,5;M16x1,5;L=208 mm

‘ﬁ. 32268542 pynesan Tara
- Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

VOLVO XC40 (536) 10/17 -

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

70f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3607071

53010SNAAO1
53010-SNE-A01

AXIAL JOINT

rotmili, 6n, sol-sag, i¢

pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

FRONT; BOTH SIDES
M14X1,5;M18X1,5;L=175 mm

HONDA CIVIC VIII (FD, FA, JAPAN) 09/05 -
3607074 AXIAL JOINT BOTH SIDES
- rotmili, 6n sag-sol
=== 53610TZ5A01 pynesas Tara
3 Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
ACURA MDX 01/14- HONDA PILOT 01/16-
HONDA RIDGELINE 01/17-
3707051 AXIAL JOINT BOTH SIDES
qu__ rotmili, &n M16x1,5;M16x1,5;L=190 mm
; 5772447000 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI SANTA FE llI (DM) 09/12 - KIA SORENTO Ill (UM) 01/15-
3707061 AXIAL JOINT FRONT; BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M16x1,5;L=275 mm
‘,—' 577304A410 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI H-1 STAREX (KMF) 10/97 -
3707064 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M16x1,5;L=244 mm
‘E-;_- 56540Q0000 pynesas Tara
Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI BAYON ( BC3) 05/21- HYUNDAI 120 111 01/20-
4107059 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1,5;M16x1,5;L=265 mm
h 490013KA0A pynesas Tara

NISSAN

D8521-3KA0A

PATHFINDER ( R52) 08/14-

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

p—

4207060

45503-69015

AXIAL JOINT

rotmili

pynesas Tara

Articulacioén axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M20x1,5 RHT; M18x1,5 RHT

TOYOTA LAND CRUISER 100 (J10) 08/98 -08/07
P AXIAL JOINT BOTH SIDES
4207086 rotmili, sag-sol M15x1,5 RHT; L=275 MM
45503-29836 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
TOYOTA HIACE V 08/06 -
4207099 AXIAL JOINT FRONT
rotmili, 6n M15x1,5;M16x1,5;L=218,5 mm
4550359145 pyneBas Tara

LEXUS

LS (460)

08/07-08/12

Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure

LEXUS

LS (400)

2023-07 (BY PRODUCT GROUP)

4207105

4550459025

08/96 - 10/00

AXIAL JOINT

rotmili, 6n

pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

BOTH SIDES
M14x1,5;M14x1,5;L=237 mm

80f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4207130 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M14x1,5;L=250 mm
'_ 4550329785 pynesas Tara
4550339105 Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
LEXUS IS 1 (JCE1, GXE1) IS200-1S300 04/99 - 07/05
4207131 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, n sag-sol M12x1,25;M12x1,25;L=272 mm
_ 4550319075 pynesas Tara

Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

TOYOTA STARLET P8 12/84 - 03/96
4907049 AXIAL JOINT FRONT
) | . rotmili, 6n M16x1,5;M16x1,5;L=233,5 mm
i T— wr‘“ 57724A9000 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
KIA SEDONA Il (VQ) 06/05-08/14
4907056 AXIAL JOINT BOTH SIDES,FRONT
rotmili M16x1,5;M18x1,5;L.=328 mm
: 577304E050 pyneBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
KIA K2500 02/17-
4907057 AXIAL JOINT BOTH SIDES,FRONT
rotmili M16x1,5;M18x1,5;L=301,5 mm
= 577244E050 pynesas Tara
; / Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
KIA K2500 02/17-
6007045 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, 6n M14x1,5;M14x1,5;L=297 mm
68019643AB S1 pyneBas Tara YEAR ONLY 2005-2007

‘_ﬂ

CHRYSLER VOYAGER IV (RG,RS)
DODGE CALIBER
DODGE GRAND CARAVAN

01/99 - 03/08
06/06 -
08/01-09/08

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

CHRYSLER

DODGE CARAVAN

TOWN & COUNTRY (4th Gen 09/01-08/07

08/00-08/08

A006.Stabilizer links

A006.Z-rotlar. Denge Rotlari (0060)
A006.CToliku ctabunusarona

Biellette de barre stabilisatrice
BARRA / ESTABILIZADOR / BIELETA

e o9 g Og b

1208088 STABILIZER LINK LH, FRONT .
denge rotu, sol ALUMINIUM, Xdrive
31356768771 cToliKa ctabunusatopa L=340 mm / Pair: 1208089
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW 3 SERIES (E90, E91) 06/05 - BMW 3 SERIES (E92, E93) 09/06 -
BMW X1 (E84) 10/09 -
1208089 STABILIZER LINK RH, FRONT )
denge rotu, sag ALUMINIUM, Xdrive
31356768772 cToliKa ctabunusaropa =340 mm / Pair: 1208088
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW 3 SERIES (E90, E91) 06/05 - BMW 3 SERIES (E92, E93) 09/06 -
BMW X1 (E84) 10/09 -

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

90f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

¥ 1208116

STABILIZER LINK
denge rotu, 6n sol

FRONT,LH
L=280 mm

| 31356881807 cTOWKa crabunusaropa PAIR:1208117
i Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
< STABILIZER LINK FRONT,RH
‘*———. 1208117 denge rotu, 6n sag L=280 mm
1 31356881808 cToliKa ctrabunusaropa PAIR:1208116
A Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
1508133 STABILIZER LINK REAR
denge rotu, arka
H ESTZ5K483A cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD F-250 01/87 -12/98
1508152 STABILIZER LINK REAR,BOTH SIDES
* denge kolu, arka L=279 mm
'. . ‘ 2200512 cToiiKa ctabunusatopa
2346598 Travesafios/barras, estabilizador
IX615C486BEA Biellette de barre stabilisatrice
FORD FOCUS IV (CGE) 10/18-
f' 1508180 STABILIZER LINK REAR
denge rotu, arka sag-sol L=120 mm
2416280 cToliKa ctabunusatopa
LX615C486ANA Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD KUGA 11l 01/20-
1508181 STABILIZER LINK FRONT
L=212 mm

H F81Z5K483BB S1

denge rotu, 6n
cToiiKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FORD F-250 ,F250 SUPER DUTY 01/99-07/08 FORD F-350, F350 SUPER DUTY 01/99 - 12/07
FORD F-450 01/99-12/07 FORD F-550 01/99 -12/07
1513317 STABILIZER LINK BOTH SIDES,REAR
- denge rotu, arka sag-sol L=391 mm
M DC375K484B S1 cToiika ctabunusatopa
’ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD F-250 SUPER DUTY (X2A, X2B 07/17-
2108031 STABILIZER LINK FRONT,LH
N o denge cubugu, 6n sol L=324mm; ONLY FOR ELECTRICAL VEHICLES
q e 9836849580 cToiKa crabunusaropa PAIR:2108032
d Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
OPEL CORSA F 07/19- PEUGEOT 208 11 06/19-
2108032 STABILIZER LINK FRONT,RH
. B denge cubugu, 6n sag L=324mm; ONLY FOR ELECTRICAL VEHICLES
P , 9836842480 cToiika crabunnsatopa PAIR:2108031
L Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
OPEL CORSAF 07/19- PEUGEOT 208 11 06/19-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

100f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

2108033 STABILIZER LINK FRONT; BOTH SIDES
=, denge g¢ubugu, 6n sag-sol Plastic:L=323 mm
H 9824652580 cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
DS DS 3 CROSSBACK (UR_, UC_, 10/18- OPEL CORSA F 07/19-
OPEL MOKKA-e (76) 06/20- PEUGEOT 20811 06/19-
PEUGEOT 2008 11 08/19-
2208029 STABILIZER LINK FRONT,BOTH SIDES
b denge rotu, 6n sag-sol L=260 mm
,, & 5451500Q0L cToliKa ctabunusatopa
546181427R Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
NISSAN JUKE ( F16E) 08/19- RENAULT CAPTURIII 01/20-
RENAULT cLiov 01/19-
REAR,RH
P 3608130 STABILIZER LINK )
h* denge rotu, arka sag L=216 mm
H 52320SJCA01 cToiika cTabunusatopa PAIR:3608131
= 52320SJCA02 Travesafios/barras, estabilizador
52320SICA03 Biellette de barre stabilisatrice
HONDA RIDGELINE 08/06-08/14
- 3608131 STABILIZER LINK REAR,LH
. denge rotu, arka sol L=216 mm
H 52325SJCA01 CTOWKa cTabunusaropa PAIR:3608130
= 52325SICA02 Travesafios/barras, estabilizador
523253)CA03 Biellette de barre stabilisatrice
HONDA RIDGELINE 08/06-08/14
3708085 STABILIZER LINK LH
denge rotu, arka sol REAR
55530C1100 cToliKa ctabunusatopa Pair: 3708086
\ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HYUNDAI SONATA VI 08/10 - KIA CADENZA 08/10-
3708086 STABILIZER LINK RH
denge rotu, arka sag REAR
55540C1100 CTOWKa cTabunusaropa Pair: 3708085
; Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HYUNDAI SONATA VI 08/10 - KIA CADENZA 08/10-
3808073 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=325 mm

e E18134170

MAZDA TRIBUTE (EP) 03/00 - 05/08

cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

PAIR:3808074

3808074
[ E18134150

STABILIZER LINK
denge rotu, 6n sag
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT,RH
L=325 mm

PAIR:3808073

MAZDA TRIBUTE (EP) 03/00 - 05/08
i STABILIZER LINK FRONT,RH
a e S
o <= 3908063 denge rotu, 6n sag L=160 mm
MK382985 CTOWKa cTabunusaropa PAIR:3908064
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
MITSUBISHI CANTERFE5, FE 6 09/92 -
& & 3908064 STABILIZER LINK FRONT,LH
- = denge rotu, 6n sol L=160
MK382984 cToliKa ctabunusatopa PAIR:3908063
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
MITSUBISHI CANTER FE 5, FE 6 09/92 -

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

110f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4108185 STABILIZER LINK FRONT,RH
denge rotu, 6n sag L=299 mm
546186AZ0A cToliKa ctabunusatopa PAIR:4108186
Travesafios/barras, estabilizador
B Biellette de barre stabilisatrice
NISSAN QUEST (R52) 08/10-
- 4108186 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=299 mm
546686AZ0A CTOWKa cTabunusaropa PAIR:4108185
Travesafios/barras, estabilizador
. Biellette de barre stabilisatrice
NISSAN QUEST (R52) 08/10-
4208067 STABILIZER LINK BOTH SIDES, REAR

48802-60060

denge rotu, arka sag-sol
cToiiKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

M14x1,5

TOYOTA LAND CRUISER 80 (J80) 08/90-012/97
i 4208179 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=85 mm
4881030090 cToliKa ctabunusaropa PAIR:4208180
l Travesafios/barras, estabilizador
= Biellette de barre stabilisatrice
LEXUS GS (L10) 12/11-
= 4208180 STABILIZER LINK FRONT,RH
: denge rotu, 6n sag L=85 mm
4882030110 cToiiKa ctabunusaropa PAIR:4208179
Travesafios/barras, estabilizador
= Biellette de barre stabilisatrice
LEXUS GS (L10) 12/11-
- 4208188 STABILIZER LINK FRONT
F denge rotu, 6n sag-sol L=261 mm
4882042040 cToiiKa ctabunusatopa
i Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TOYOTA RAV 4 01/19-
6008064 STABILIZER LINK BOTH SIDES,REAR
denge rotu, arka sag-sol L:115,5;1D:10,7
3537118 CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CADILLAC ELDORADO Coupe 09/94 - 09/02 CADILLAC DEVILLE 10/93 - 09/99
CADILLAC SEVILLE 08/92-09/96
6108001 STABILIZER LINK BOTH SIDES, REAR
denge rotu, arka sag-sol
=y »‘ e » 25679063 cTolika ctabunusatopa
- 25702353 Travesafios/barras, estabilizador
E69Z5A486A Biellette de barre stabilisatrice
JEEP GRAND CHEROKEE 1 (2J) 09/91 - 04/99
7108006 STABILIZER LINK REAR, LH
denge rotu, arka sol
104449100E cToiiKa ctabunusaropa PAIR:7108007
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL S 08/12- TESLA MODEL 3 (5YJ3) 01/17-
TESLA MODELY (5YJY) 03/19-
7108007 STABILIZER LINK REAR, RH
denge rotu, arka sag
104449600E CTOWKa cTabunusaropa PAIR:7108006
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL S 08/12- TESLA MODEL 3 (5YJ3) 01/17-
TESLA MODELY (5YJY) 03/19-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

12 0f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

[
2 7108010
600710000A
¥
TESLA MODEL S 08/12-

STABILIZER LINK
z rot, arka sag-sol
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR
L=148,5 mm

A007.Wishbones

A007.Salincaklar (0040-0060)
A007.Pbluarv 3aaHeii noaBecku. bvmenaHru

Triangle de suspension
BRAZO DE SUSPENSION

LEFT,FRONT
) 1309070 WISHBONE ,
t%«? salincak, 6n sol L=361 mm
N3 9815014680 pbivar PAIR:1309071
( Barra oscilante, suspensién de ruedas
Triangle de suspension
CITROEN BERLINGO VP (K9) 02/19- OPEL COMBO E (X19) 03/2019-
PEUGEOT RIFTER (K9) 02/2019- PEUGEOT PARTNER VU ( K9) 02/2019-
1309071 WISHBONE RIGHT,FRONT
salincak, 6n sag L=361 mm
9815014380 pblyar PAIR:1309070
Barra oscilante, suspensién de ruedas
Triangle de suspension
CITROEN BERLINGO VP (K9) 02/19- OPEL COMBO E (X19) 03/2019-
PEUGEOT RIFTER (K9) 02/2019- PEUGEOT PARTNER VU ( K9) 02/2019-
1309078 WISHBONE FRONT,RH
salincak, 6n sag Pluriel, Ch.Nr From: OPR 10978
1613991480 pblyar PAIR:1309079
3521.06 51 Barra oscilante, suspension de ruedas

Triangle de suspension

CITROEN C31(FC,FN) 02/02 -10/09 CITROEN c2 (JIm) 09/03 -08/09
CITROEN C3 PLURIEL (HB_) 05/03 -
1309079 WISHBONE FRONT,LH
salincak, 6n sol Pluriel, Ch.Nr From: OPR 10978
1613991580 pblyar PAIR:1309078
3520.T5 S1

Barra oscilante, suspensién de ruedas
Triangle de suspension

CITROEN C3 1 (FC,FN) 02/02 -10/09 CITROEN c2 (JM) 09/03 -08/09
CITROEN C3 PLURIEL (HB_) 05/03 -
FRONT,RH
. = 1309080 WISHBONE
~ salincak, 6n sag
9815014380 S2 pblyar PAIR:1309081
e i Barra oscilante, suspensién de ruedas
Triangle de suspension
CITROEN BERLINGO VP (K9) 02/19- OPEL COMBO E (X19) 03/2019-
PEUGEOT PARTNER VU ( K9) 02/2019-
. FRONT,LH
o 1309081 WISHBONE
"~ salincak, 6n sol
9815014680 S2 pbiyar PAIR:1309080
!J Barra oscilante, suspensién de ruedas
Triangle de suspension
CITROEN BERLINGO VP (K9) 02/19- OPEL COMBO E (X19) 03/2019-
PEUGEOT PARTNER VU ( K9) 02/2019-
; 1409117 WISHBONE FRONT
salincak, 6n Ust
5801564293 S1 pblyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
IVECO DAILY VI 08/14-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

13 0f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

z 1509302 WISHBONE FRONT,RH
salincak, 6n sag
220313781 pblyar PAIR:1509303
JX613A523AEB Barra oscilante, suspension de ruedas
Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
& 1509303 WISHBONE FRONT,LH
salincak, 6n sol
2203138 S1 pbiyar PAIR:1509302
JX613A424AEB Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
1509304 WISHBONE FRONT,RH
salincak, 6n sag
2203137 S2 pblyar PAIR:1509305
JX613A523AEB S1 Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
1509305 WISHBONE FRONT,LH
salincak, 6n sol
2203138 S2 pbluar PAIR:1509304
JX613A424AEB S1 Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
: 3009043 WISHBONE FRONT,RH
salincak, 6n sag, alt
32221282 54 pbiyar PAIR:3009044
Barra oscilante, suspensién de ruedas
Triangle de suspension
VOLVO XC40 (536) 10/17 -
3009044 WISHBONE FRONT,LH
salincak, 6n sol, alt
32221283 54 pblyar PAIR:3009043
) Barra oscilante, suspensién de ruedas
Triangle de suspension
VOLVO XC40 (536) 10/17 -
) 3009045 WISHBONE FRONT,LH
salincak, 6n sol, Ust
31360836 pblyar PAIR:3009046
"6 Barra oscilante, suspensién de ruedas
Triangle de suspension
VOLVO S90 11 (234) 10/17-
3009046 WISHBONE FRONT,RH
salincak, 6n sag, st
31360837 pblyar PAIR:3009045
Barra oscilante, suspensién de ruedas
Triangle de suspension
VOLVO $90 11 (234) 10/17-
3609169 WISHBONE FRONT,RH
salincak, 6n sag, alt
51350TK4A00 pblyar PAIR:3609170
. Barra oscilante, suspensién de ruedas
6 Triangle de suspension
ACURA TL UA8-UA9 (4th Gen.) 08/09-08/14

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

14 of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3609170
51360TK4A00
-
ACURA TL UAS-UA9 (4th Gen.) 08/09-08/14

WISHBONE
salincak, 6n sol, alt
pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT,LH

PAIR:3609169

NISSAN 350 ZX (Z33)

4109084

54525-AL500
54525-CFO0A

10/02 -03/09

WISHBONE
salincak, 6n, Ust sol
pblyar noABecKu

Barra oscilante, suspensién de ruedas
Triangle de suspension

LH, FRONT
UPPER

PAIR:4109085

#
s

4109085

54524-AL500
54524-CFO0A

WISHBONE
salincak, 6n, Ust sag
pbluar noaBecku

Barra oscilante, suspensién de ruedas

RH, FRONT
UPPER

PAIR:4109084

Barra oscilante, suspensién de ruedas

- Triangle de suspension
NISSAN 350 ZX (Z33) 10/02 -03/09
4109180 WISHBONE FRONT RH,UPPER
salincak, 6n sag, tst L=220 mm
545248B525 pblyar PAIR:4109181
RK620658 Barra oscilante, suspensién de ruedas
Triangle de suspension
NISSAN FRONTIER 01/98 - 12/04 NISSAN XTERRA 08/00-09/04
4109181 WISHBONE FRONT LH,UPPER
salincak, 6n sol, tist L=220 mm
545258B525 pblvar PAIR:4109180
RK620657

Triangle de suspension

NISSAN FRONTIER 01/98 - 12/04 NISSAN XTERRA 08/00-09/04
WISHBONE FRONT,RH
5 4209257
0925 salincak, 6n sag, tist FOR RWD
4806635140 pblyar PAIR:4209258
Barra oscilante, suspensién de ruedas
> Triangle de suspension
TOYOTA TACOMA (N1) 01/95 - 08/04
FRONT,LH
& 4209258 WISHBONE ,
salincak, 6n sol, Ust FOR RWD
4806735070 pbluyar PAIR:4209257
Barra oscilante, suspensién de ruedas
& Triangle de suspension
TOYOTA TACOMA (N1) 01/95 - 08/04
4209261 WISHBONE FRONT,RH
salincak, 6n sag, alt
4806847040 pblyar PAIR:4209262
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA PRIUS Hatchback W2 (NHW 08/03 -12/09
4209262 WISHBONE FRONT,LH
salincak, 6n sol, alt
4806947040 pblyar PAIR:4209261
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA PRIUS Hatchback W2 (NHW 08/03 -12/09
g FRONT,RH
® - _ 4209267 WISHBONE
)\ é salincak, 6n sag, st RWD
4861039185 pblyar PAIR:4209268
r Barra oscilante, suspensién de ruedas
L Triangle de suspension
LEXUS GS (L10) 12/11-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

150f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

P FRONT,LH
. ‘e 4209268 WISHBONE
i salincak, 6n sol, st RWD
; K 4863039115 pbluar PAIR:4209267
—— ‘i Barra oscilante, suspensién de ruedas
Triangle de suspension
LEXUS GS (L10) 12/11-
; 4209274 WISHBONE FRONT,RH
] salincak, 6n sag, alt YEAR ONLY 1998-2004
4806808011 pbluyar PAIR:4209275
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA SIENNA (USA) XL10 08/98-08/03
TOYOTA SOLARA (XV20) 08/99-08/03
N 4209275 WISHBONE FRONT,LH
b salincak, 6n sol, alt YEAR ONLY 1998-2004
4806908011 pblyar PAIR:4209274
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA SIENNA (USA) XL10 08/98-08/03
TOYOTA SOLARA (XV20) 08/99-08/03
. 4209276 WISHBONE FRONT,RH
0 salincak, 6n sag, alt YEAR ONLY 1998-2004
4806808011 S1 pblyar PAIR:4209277
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA SIENNA (USA) XL10 08/98-08/03
TOYOTA SOLARA (XV20) 08/99-08/03
; 4209277 WISHBONE FRONT,LH
6 salincak, 6n sol, alt YEAR ONLY 1998-2004
4806908011 S1 pblyar PAIR:4209276
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA AVALON (XX10,XX20) 08/95-08/04 TOYOTA SIENNA (USA) XL10 08/98-08/03
TOYOTA SOLARA (XV20) 08/99-08/03
6009055 TRACK CONTROL ARM LH, REAR
denge kolu, arka sol
68207620AA pblyar Pair: 6009056
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHRYSLER 200 08/15- JEEP CHEROKEE (KL) 11/13-
6009056 TRACK CONTROL ARM RH, REAR
denge kolu, arka sag
05090110AA pblyar Pair: 6009055
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHRYSLER 200 08/15- JEEP CHEROKEE (KL) 11/13-
3 6009121 WISHBONE FRONT
salincak, 6n Ust STEEL TYPE
52106577AA S1 pblyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHRYSLER ASPEN (HG) 04/08- DODGE DURANGO 2nd Generation 08/04-08/09
DODGE RAM 1500 08/02-08/09
6109029 TRACK CONTROL ARM BOTH SIDES
denge kolu, arka
D ————re (D) 51945319 pbivar
68246753AA Barra oscilante, suspensién de ruedas
Triangle de suspension
JEEP RENEGADE SUV (BU, B1) 07/14-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

16 of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6109033

52088422AB
K52088422AB

JEEP GRAND CHEROKEE Il (WJ-WG 01/99 - 06/05

WISHBONE
salincak, arka sag-sol, st
pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

BOTH SIDES,REAR

A008.Steering bushes

A008.0n Aksam. Burclar (50-70-90)
A008.CaitneHT610KM bblYaros

Silent bloc de susbension
BUJE BRAZO OSCILANTE O DE SUSPENSION

e 3600101
- 52370SDAA60 S1
\ 523755DAA60 S1

S

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol, alt
caiineHT610K pblyara

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,REAR
52,7x12,2x38 mm

FOR 3609160/61

HONDA ACCORD VIl Tourer (CM) 04/03 -07/08
3700097 TRACK CONTROL ARM BUSH REAR
denge kol burcu, arka alt 34x14,2x39,7
552503K601DS S1 caiineHT610K FOR 3709136
552503K700 S1 Casquillo cojinete, brazo oscilante
552503K701 51 Silent bloc de suspension
HYUNDAI AZERA 4th Generation (TG) 08/05-08/11 HYUNDAI SONATAV 01/05 -08/10
4200041 TRACK CONTROL ARM BUSH BOTH SIDES
burg, arka REAR
4872552060 caiineHT6N0K
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
TOYOTA URBAN 10/06 - TOYOTA YARIS P9 11/05-09/10
4200116 TRACK CONTROL ARM BUSH REAR
salincak burcu, arka
4230448030 calineHT610K pblyara
4230448031 Roétula de suspensidn/carga
4230548030 Silent bloc de suspension
LEXUS RX (MHU3_, GSU3_, MCU3_) 03/03-12/08
4200119 TRACK CONTROL ARM BUSH REAR
denge kol burcu, arka sag-sol 40x12,2x55 mm
4871048070 S2 caiineHT6,10K FOR 4209246;4209300;4209316
4872533020 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
LEXUS RX (MCU15) 07/00 - 05/03 TOYOTA HIGHLANDER (XU40,XU50) 08/08-08/16
TOYOTA VENZA 08/09-08/14
4200120 TRACK CONTROL ARM BUSH REAR
e denge kol burcu, arka st 55x14,2x59,8 mm
4871034010 S1 cailneHT6n0K FOR 4209247/8
] 4871034020 51 Casquillo cojinete, brazo oscilante
- Silent bloc de suspension
TOYOTA SEQUOIA 08/00-08/07
4200121 TRACK CONTROL ARM BUSH REAR
denge kol burcu, arka alt 36,5x14,2x43 mm
4873048090 S1 calineHT6N0K FOR 4209249/4209256
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
LEXUS RX 350 (MHU3,GSU3,MCU3) 08/03-07/08 TOYOTA HIGHLANDER (U3) XU20 08/01-08/07
4800004 TRACK CONTROL ARM BUSH BOTH SIDES
burc, biiyiik BIG BUSH;66x14,2x65 mm
C2C1210181 calineHT610K pblyara for 4805004/5
C2C1832551 Casquillo cojinete, brazo oscilante
C2C3679551 Silent bloc de suspension
JAGUAR S-TYPE (X200) 10/98 -12/08 JAGUAR XF SPORTBRAKE (CC9_) 08/12-08/ 14
JAGUAR XK Cabrio,Coupe (QQ6) 08/06 - 08/14 JAGUAR XJ SERIES (X350) 03/09-

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

17 of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4800005 TRACK CONTROL ARM BUSH BOTH SIDES
burg, kiiciik SMALL BUSH;28x10,2x32,2 mm
C2C12101S2 calineHT610K pblyara for 4805004/5;4805014/5
C2C1832552 Casquillo cojinete, brazo oscilante
C2C36795 52 Silent bloc de suspension
JAGUAR S-TYPE (X200) 10/98 -12/08 JAGUAR XF SPORTBRAKE (CC9_) 08/12-08/ 14
JAGUAR XJ SERIES (X350) 03/09-
4800014 TRACK CONTROL ARM BUSH BOTH SIDES
rotilli kol burcu, 6n 42x14.2x48 mm
HK833C255AD S1 caiineHT6,10K FOR 4805009/10;4805014/5;4805028/9
T4A101151 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
JAGUAR F-PACE (X761) 09/15- LAND ROVER RANGE ROVER VELAR (L560) 03/17-
4800025 TRACK CONTROL ARM BUSH FRONT
e salincak burcu, 6n tst 46,3x10,2x49 mm
| C2D36804 S1 caiineHT6n0K FOR 4809002/3
C2D36806 S1 Casquillo cojinete, brazo oscilante
- Silent bloc de suspension
JAGUAR XJ (X351) 08/09 -
4900023 TRACK CONTROL ARM BUSH FRONT
salincak burcu, 6n
544534E000 calineHT610K pblyara
5083-34-840A Casquillo cojinete, brazo oscilante
5475-34-710 Silent bloc de suspension
KIA BESTA 07/93 -12/03 KIA K 2500 01/03 -08/09
KIA PREGIO 01/97 -09/04
REAR
b 0 TRACK CONTROL ARM BUSH
60 0085 denge kol burcu, arka st 50,7x15,6x61,5 mm
a 5090124AA caineHTbnoK FOR 6109048;4809026
\ Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CHRYSLER 200 08/15- JEEP CHEROKEE (KL) 11/13-
6000088 TRACK CONTROL ARM BUSH REAR
denge kol burcu, arka st 47,2x12,2x52 mm
05090110AA calineHT6N0K FOR 6009055/6
5090110AA Casquillo cojinete, brazo oscilante
68207620AA Silent bloc de suspension
JEEP CHEROKEE (KL) 11/13-

FLYER-2023-07

2023-07 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

18 of 18



